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#include<regb?2. h>
#include”24C02. h”
/seksrskststskstotsketeotolig [ 5E X kskskekoksketokskotokokok /
sbit EW ShuMa2=P2°3; //EW 5 AR A 5 h i 4 il s
sbit EW_ShuMal=P2 2; //EW 7 ] iai S B & 5 AT
sbit SN ShuMa2=P2°1; / /SN T AR, 30 A 4 i)
shit SN ShuMal=P2°0: / /SN T[] iR AN, 50 45 423 1 Avr
sbit SN Yellow=P1 1; //SNEELT
sbit EW Yellow=P1 5; //EW wAT
sbit EW ManGreen=P2 7; J/EW NATIEZRKT
sbit SN ManGreen=P2 4; //SN NATIE 24T
sbit EW ManRed=P276; //EW NATIEZLAT
sbit SN ManRed=P2 5; //SN NATIB LT

sbit EW Red=P1°6; //EW BHATIE LT




shit SN Red=P1°2;

sbit shezhil=P3°0:
sbit shezhi2=P3 1;:
shit stopl=P3 7;

bit Flag SN Yellow;
bit Flag EW Yellow;

char Time EW;
char Time SN;

//SNEHATIELLL]

/R BB
/ o e
/BRI DUBE

/ /SN K] bR AT
//EW BT bR AT

/ BR VG )R I FROT
/ B AL TT 1A B TH I LT

uchar EW=30, SN=20, ENL=9, SNL=9;

uchar EW1=30, SN1=20, EWL1=9, SNL1=9;

uchar code table[10]={0x3F, 0x06, 0x5B, 0x4F, 0x66, 0x6D, 0x7D, 0x07, 0x7F, 0x6F} :
//0- I

uchar code State[8]={0xBE, 0xBD, 0xB7, 0xBD, 0xEB, 0xDB, 0x7B, 0xDB} ;

/kskskekekekskskskoksk R B T HE skekekekskskskokskskokokoksksk /

/FEFP IR IAR, TR AR

void Delay ms(uint z);
void ShuMa Display():

void timer0O init();
void statel();
void state2();
void state3();
void state4();

/kskskekekekskskskokokekeko PR BN kokskekekekskskskokokok /

void main ()

{

timer0 init(); / FERS 25V 8R4
EWl=read (10);  //24c03d5:#fE

SNl1=read (11) ;
EWL1=read(12) ;
SNL1=read (13) ;
EW=EW]I ;
SN=SN1 ;
EWL=EWL1;
SNL=SNL1 ;
//Int init() ;



while (1)

{
statel () ;
state2() ;
state3 () ;
state4 () ;

/xsskkskskekekekekeksko ) E I pR B kskskskokokokokskskskskok /
/*void Delay ms (uint z)
{ uint x,v;

for (x=120;x>0;x—)

for (y=z;y>0;y—) ;

px/
/sksksiskskekeksiokskekskiBi I B S 71 PR B kskekskekskekskskokskekskokskokok /
void ShuMa Display ()
{

uchar H, L;

H=Time EW/10;

L=Time EW%1O0;

PO=table[L];
EW ShuMa2=0; /£S5 EW LED2
Delay ms(1);

EW_ShuMa2=1; /¥& K EW_LED2
PO=table[H];

EW ShuMal=0; /A% EW LED]
Delay ms(1);

EW ShuMal=1;

H=Time SN/10;
L=Time SN%1O0;
PO=table[L];
SN_ShuMa2=0; / #5.5% SN_LED2
Delay ms(1);
SN ShuMa2=1;
PO=table[H];



SN ShuMal=0; / #5.55 SN_LED1
Delay ms(1):
SN ShuMal=1;

J

/kskekekskskskokokskekokskofiil T PR B kskekekskskeskokokskokokskskokok /
void statel()

{

/Hkdkkkkkk SN Tl AT SW 28 | [toksdokatokokotok /

SN ManRed=1;

SN ManGreen=0; //SN AATIEIEALT

EW ManRed=0; //EW AATI&ZEIL

EW ManGreen=1;

Flag SN Yellow=0; //SN&HiA] BonfE 5

Flag EW Yellow=0; //EW X ] Wonfs 5

Time EW=EW;

Time SN=SN;

while (Time SN>=5)

{
P1=Statel[0]; //SNZgI, EW £LAT
ShuMa Display() ;

J

P1=0xff; ZEI P1 T4 4T

while (Time SN>=0)

{
Flag SN Yellow=1: //SNF=AT15 547
EW Red=0;
//P1=P1 |0XBO; /PREEEW Z0AT
ShuMa Display() ;

J

void state2()

{

/skseksksiskskekokokok SN 7 1) 25 PR A skekskoskskokokskskok /
SN_ManRed=0; //SNAATIEZE L

SN ManGreen=1;

EW ManRed=0;  //EW AATiEZE1L

EW ManGreen=1;



Flag SN Yellow=0; //SN<] B/nfE 5
Flag EW Yellow=0; //EW K¥AT Bornf5
Time SN=SNL;
Time EW=EWL;
while (Time SN>=5)
{
Pl=State[2];  //SNAIZIT 5, EW 24T
ShuMa Display() ;
J
P1=0xFF;
while (Time SN>=0)
{
Flag SN Yellow=1; //SNH-BT 15 547
Flag EW Yellow=1;
ShuMa Display() ;

}
void state3()

{

/il [ skokskokskokokoksk /
EW=EW1 ;
SN=SNT1;
EWL=EWL1;
SNL=SNL1;

JaxkkckekokkSN 28 1 BW Gl AT IR Asskskskskskekskoskokok /

SN_ManRed=0; //SNNATIEZE 1L
SN ManGreen=1;

EW ManRed=1;

EW ManGreen=0; //EW NATEIRAT

Flag SN Yellow=0; //SNKIEAT Winfs 5
Flag EW Yellow=0;//EW Kuk] B~{55
Time EW=SN;
Time SN=EW;
while (Time EW>=5)
{
P1=Statel[4];//EMifT, SN 4[]
ShuMa Display () ;



J

P1=0Xff;

while (Time EW>=0)

{
Flag EW Yellow=1;//EW Ha,T1{5 547
SN Red=0;
//P1=P1[0x0B;  /AR+F SN ZLAT
ShuMa Display() ;

void state4 ()
{

/sl kEW 77 1) 25 370 R A skekskskskokekokskskoskoskoskok /
SN_ManRed=0; //SN NATiEZE L
SN ManGreen=1;
EW ManRed=0;  //EW AArigZkil
EW ManGreen=1;
Flag SN Yellow=0; //SNCHA] BonfE 5
Flag EW Yellow=0;//EW XKL x5
Time EW=EWL;
while (Time EW>=5)
{
Pl=State[6]; //EW 43445, SN £04T
ShuMa Display () ;
J
P1=0Xff;
while (Time EW>=0)
{
Flag EW Yellow=1; //ENJFEAT{5 51"
Flag SN Yellow=1;
ShuMa Display () ;

/kekskskokekeksksk IR skokskekskskokekek /
EW=EW1 ;

SN=SN1;

EWL=EWL1;

SNL=SNL1;



/ksksksksiskokskekekskokokosk b E I 25 0 4] UEAL, PR B wskskekekskosiokoskokskokskokok /
void timerQ init ()
{
TMOD=0x01; /RERES 0 TAEJ5 1
THO=(65536-10000) /256; /ZEHIH
TLO=(65536-10000) %256 ;
EA=1; /#FiE i
ETO=1;//T N #% 0 ik
TRO=1; /f5 &) € N 4%

/ksksksksiskokskekeksokokskekekoko G E I 28 0 IR 4% HP BT BR B skeksiokoskoksksksiokok /
void timer () interrupt 1

{

uchar t;
THO= (65536-50000) /256 ;
TLO=(65536-50000) %256 ;
t++:
if (shezhil==0)
{
EW1=60;
SN1=40;
EWL1=19;
SNL1=19;
write (10, 60) //24C025 #AE
write (11, 40) ;
write (12, 19) ;
write (13, 19);
}
if (shezhi2==0)
{
EW1=50;
SN1=40;
EWL1=9;



SNL1=9;
//write (10, 60) ;
//write (11, 50) :
//write(12,9) :
//write(13,9):
J
if (stopl==0)
{
PO=table[0];
EW ShuMa2=0;
EW ShuMal=0;
SN ShuMa2=0;
SN ShuMal=0;
P1=0XBB;
EW ManGreen=1;
SN ManGreen=1;
EW ManRed=0;
SN ManRed=0;
while (1) ;

if (t==10)
{
if (Flag SN Yellow==1) /M3 Fg b5 kT Fn di s
{SN Yellow="SN Yellow;}
if (Flag EW Yellow==1) /MR ZR P58 KT HR &
{EW Yellow=EW Yellow;}

}
if (t==20)
{

Time EW—;

Time SN—;

if(Flag SN Yellow==1) /M rg b AT Fri&ifr

{
SN Yellow="SN Yellow:



if (Flag EW Yellow==1) /XA 4Bk ARaadis
{
EW Yellow=EW Yellow;

t=0;

}
24c02 [1]. 27
#tdefine uchar unsigned char

#tdefine uintunsigned int

sbit SCL=P3°5;

sbit SDA=P3 6;
/kskskskekekskekskskskslR] 24 T HE skekekokekskskskskoskokok /
void delay() ;

void Delay ms(uint z);

void init(void);

void start();

void stop();

void ack() ;

void noack() ;

void write byte (uchar dat) :
uchar read byte(void);

void write (uchar add, uchar dat);

uchar read(uchar add):

void delay QFHER], KZj 5us

void Delay ms(uint z)
{ uint x,v;
for (y=z;y>0;y—)
for (x=120:x>0:x—) :
}
void init(void)
{
SDA=1;
SCL=1;



}
void start (JJashE S
{
SDA=1;
delay () ;
SCL=1;
delay () ; FAEAT 21K
SDA=0;:
delay () ;
}
void stop O/fF1HE 5
{
SDA=0;
delay () ;
SCL=1;
delay () ;
SDA=1;// EFH-H 2K
delay () ;
}
void ack () /NZME 5
{

uchar 1i;
SCL=1;
delay () ;
while ((SDA==1)&& (i<250)) /AEfFNEr, HSEAIPIE—HANE
i-l--l-;
SCL=0; /A AN, WA EhhAK
delay () ;
}
void noack ()
{
SDA=1;
delay () ;
SCL=1;
delay () ;
SCL=0;
delay () ;
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